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o, = 60Mpa AT LS 2 4 1.
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1. SR 3 ol A
VEFRA T R R 6014, HIELARS A dx Dx B =75mmx110mmx20mm

2. HE)%Eh 2 FhAk gk EY
1) i ) e B4

FAIFEA) NS Y B2, A (BLiso) 15-3, , A4, =120 )

p, =636KW  n, =172.5r/mn

dyn = Ag3| B2 =120 030 _ 39 9um
n, 172.5

T A A, A 15%, Hd,, > 1+0.15)%39.9 = 4588 mm

R A T Ak 52— 2 RN n) A, SORTH O AR T B A bR v RS BE 1) £ 3 BR Sl A& 7010C
TR SF A d x Dx B = 50mm x 80mm x 16mm

3. AL 1 Bk

SRR R AR, e (WLik) 15-3, , L4, =120 .

p, =6.62KW 1, =720r/min

d > 437 =120%3/2%2 225 Lm
n, 720

IR 15%, Bld, . > (1+0.15) % 25.1= 28.865 mm

Sl 1 E AR R DT B e AL, OGS LA 30mim A6 RS Rk o () o —
LI A A B A 0 BUCR 35mm  Hom R 1 B AR N AR EUR 40mim A T A SE — 32 1R )
Fr, WMol I 0 AR A UE B AL bR ME RS FE RY ff 4% fel BR Bk 7008C, I AR A RAF K
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d x Dx B =40mmx68mmx15mm
L e TR R T R
JorieEt bxh=8x7 L=63  #GB/T1096 8x63

NG bxh=14%x9 L=70 %GB/T1096 1470

L M E] B )
Kphhits bxh=16x10 L =65 & GB/T1096 16x 65

INEREEE bxh=16x10 L=110 #:GB/T1096 16x110

A b B

KEFREE bxh=20x12 L=110 #EGB/T1096 20x 110

L R R
L. e BT

MR CHLME s THD P233, X T M kfedl s, [k feny B <12 n/s, g B
T e BT LR TSR R s

IR IR A ILEY 0. 7T Nk, (HAN T 10mm, RIE RN A LY R 14N

(AN 10mm),  ANERIEE 1/3 A5 17 BE[ .

h 3 Al 2)) F At B B IS PORR AL it B Ao A i D, 355 Bl oA 1T 1) BE A, I AR 2 A

A Rt b T P EE & AN /DT 30-50mm.

2. FREHIRIE
b B P B B e (0 RLAERE V<an/s 7 DL T IR, T EANI A Bl 0
A TR RIF.
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£\ FER T KEGE

FR AT
RN O =9mm
HEER O, = 8mm
MELEEE b =13.5mm
e AL E- LN 3 b, =12mm

MEROEEE b, =22 .5mm

b i A d, =24mm
B 2 42 B B n=4

b 7R 5 B R AR d, = 16mm
1 7K 3y 3 BB 4T d, =10mm
T AL 48 d = 8mm

d, d, d, ZIMEEENIEE  C, =36mm. 26mm 20mm
d, d, Z0EHENEE  C,=30mm. 18mm
IMERE R BRI E S L, =S54mm
REHRTIEENEEER A =12mm
WHIRE S NAEEEE A, =10mm

23, A8 R m, =Tmm  m=8mm

SR B R

1] GPUbdeeh )y SN RR DT . dER &S5E0E WAL
(2] (WU BC T R FE Bl ) JB R TNV R 7 th Rt
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